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1. ���%���������5,,�����2��������"���
�����
������
�����  �1�"��2���������6$�6�



�������� ,��������������
������������������
�������2���6$�  ��/��������������	����������

��
6�
������2���6$� ,�����
������ 

2. ������"����/��#8�����
�����  �1�"�������2���������9��$
$��	���"������)������

��������
����� 
�����,�����	���������"����/��#8����6�

�
�����

3. �	��91���;"����2��������
�����
������
�����  �1�"��2�2������6$����	��

����
����� 
�����,����
�����
���<,�2���������
�
���������	�����������,��1����2���6$��

4. ����0����2����������������
����� ���
�����������2���������6$�$�	�����0������1��	
��<

,����	��6$�
����/����	
�"����2��� (	���� ?�9��, 2546) 

����������������������
���������/
��?*D����������	
�����
�����
�.� 3 �1����$����- 

��1) ������
���
���� 
�!����"#&
����

##�� � �����
��*+�����'���
����	����  ��� �$���

���& (Adam Smith) 
$	�$ �����'#$ (David Ricardo) ���,���' �,G	� ����' (John Stuart Mill) #$�

�?*D�����1���; 6$���
 �?*D��	��6$�
����/#$�
$<$��$� (Absolute Advantage Theory) ��� �?*D�

���6$�
����/#$�
����/
���/ (Comparative Advantage) 

��2) ������
���
���� 
�!����"#&
�����'��

##�� ��������$����1���;��� ���I���' K��'
/�


�� (Gottfried Harberrier) ��$�����	��$ “�
�
���#����” ���&�/���?*D��	��6$�
����/
9��

���%��&'����1��������������6$�
%���
�����)��
�
���#�����//
%�����-�"��?*D���-$�	� 
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 ���������������3)� ������
���
���� 
�!����"#(��)�( � ����,����-��<6$��������$���
������������


��*+�����'���&�/���?*D����������	
�����
��"��0����"��
!��$�����6�
��$���  
9
�


���
���O�-���� (Offer Curve)���8�%��
��
�,
	��'&-
/����' (Edgeworth-Bowley Box Diagram)


�.���� ����������"��
���#$$
$
��W�
���#$�
K�
9��' -#��'��� (Factor Endowment and the 

Heckscher-Ohlin Theory) �
�����������*����
�����	��$"��
!��������������  #$�
Y%��

��
������"����
$<�
����	��/�	�����%��&'���	
���5,,�����2���  ���������	
�����
������	��


,��;���
��*+��, (	�����*' �����)������, 2548) 

 

������������
(*���!����'����+��
��,-./01234�-56783794�:;40<=>�����-57?�@?A3;       

       �?*D���-����1���
�	���  Adam Smith ������,�
��$��-���/  2 ���
��������	��

6$�
����/#$���/W�)' (Absolute Advantage) 
�������
���������������&�8�%����	
�������
��

�����"����2��������������9��$ ���$����	
�"����2������������9��$�����  ��-���-��-�������
��,�

�
�"��
��$�	��91���;
Y%����
��"����2�����������������	��6$�
����/#$���/W�)'����1����

���
�����������������
�����	��6$�
����/O���������������	  ,��1�"��2����#�9�'
��$��-���/��-�

������
��$����-�  ��������������-�������
��
��$��-����	  ��-�������
��,���	����,��1����

2�����������������	��6$�
����/����
�������$����
�	���
������������O������������  ���,�
��$

2����#�9�',����������-���-����[\�����?*D��	��6$�
����/#$�
$<$��$  ��� Adam Smith ��-�

��-���W
/������?*D��W��
�������(Labor theory of value) �������+������1���;�<����

  1."���
�����
����-�,����5,,��������
%�����
��
$��	
�.��5,,�����2��� ������0)8�%

����0)���*)����
���������0������� 

  2.����0������������������,���-���W
��/,1��	����9��	#�������������������1���"9�"�

���2��� 
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��������� ����$
�
�����2���	#���
�*���!����'����+��
�  

���
�� 
,1��	��������������"9�"����2����������1���
	� 

X� Y�

A� 8 4 

B� 10 2 

        �����: 
����������/������*�	�9� 
��*+�����'���	
�����
�� (	�����*' �����)������, 2548) 

���������,����������  2.1 �����"�����
������1���������  2 ���
�� ��� ���
�� A ��/���
�� 

B������
�.��5,,�����"9�"����2���
%�����
��
$��	������0)��/���
�������� ���������2����� 2 9��$

��������� X ��������� Y O��� �$�� ���& 6$�
��������������?*D����
����	��/���6$�
����/#$�


$<$��$ #$�����1�	
�"����������
���  #$�"9���������/
��������1�  (Division of Labor) ��/����

�	��91���;
Y%����
��  (Specialization) ������
������	�,�
����2���������������	��6$�
����/

#$�
$<$��$ 

������,����	��
����- ���
�� A ���	��6$�
����/#$�
$<$��$"����2���������  X 
�����,����

����0�"����2��������1��	
����
��  B ������
�� B ���	��6$�
����/#$�
$<$��$"����2���

������ Y 
�����,�����
�� B ������2��������� Y 6$�"�����0������1��	
����
�� A $����-����
��

�	�
�������,�2���������������	��6$�
����/#$�
$<$��$
�
���-�  ��� ���
�� A 
����2��������� X


%�����
��
$��	 ������
�� B 
����2��������� Y 
%�����
��
$��	 ���	�1�2�2������
����,�����

/��#8�8��"����
���1�6��
����
%��������/���������9��$��������6�
6$��1����2���  O���2����

������<��� ,��1�"������������1�����/�����	���������������9�9�
%�����-�����	
�"���)����

6�
�����������	
�����
�� ������9�9�6$�/��#8�����������������W���  
%������
��
�������,�

2������������������0���1��	
� (����� %��&����, 2547)  

���.������
�*���!����'���!����������,B0?C7<73A64�-56783794>�'���D76A5�EAF7<5 

     ��D����	��6$�
����/#$�
����/
���/  �����	��$��������'#$��-�  ���,�6�
���	��

6$�
����/#$���/W�)' ��-�������
������1����������	
������<���������,��1���������� ���6$���/

2����#�9�',�����������6$�  #$����
�����6�
���	��6$�
����/#$���/W�)'

(AbsoluteDisadvantage) ,��1����2�����������������	��
���
����/#$�
����/
���/��������0$  "�
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�)�
$��	������
��������	��6$�
����/#$�
����/�
����/W�)'"����2�����������-�  2 9��$ ��-�,�

�1����2�����������������	��6$�
����/#$�
����/
���/�������0$  ��-���-�?*D�	��6$�
����/#$�


����/
���/��� Ricardo ��-���W
/���������+���
��! $���
�6���- 

1. "�#�������
�� 2 ���
�� ��
�����
���1����2���������
%��� 2 9��$ 

2. ����������
��
$��	
�.��5,,�����2���  (Labor theory of value) ��
�����
����������

����� ���������,������
�<���� �����������-��0�0)���*)����
���������0������� (homogenous) 

3. ������������
����������6$���
��
������	
���0��������8��"����
����
6�


�������1����
�������������	
�����
��6$� 

4. ��$�/
��#�#��������"�  2 ���
�� ��
�����
�����������,��1����2���#$�"9�


��#�#����������
�����6$� ��
2W�2�����-���$,�"9�	�&����2������
��������"����
�� 

5. ����0�,�6�

������������/��$�/������2������,�
�.���$�
	�
$��	�����/,1��	�

���������"9� 

6. �������
������
����/W�)'"��0����$ 

7. ������
���
��$��-����	
�����
��6�
����+
�����
����	���� 

8. ����0�"�������
�
�
���/�W��'  2W�/��#8����	��%��%�",��/������"����
��
�
���/

�
�����
�� 

9. 2W�2����������6$���O����1�6��W��0$ ���2W�/��#8���	����	��%�",�W��0$�

10. 6�
��8�%�	���������
����(Money Illusion) 

      11. $0���������$0� (Balanced Trade) 

��������$
�
�����2���	#���
�*���!����'���!��������� 

���
�� 
,1��	��������������"9�"����2����������1���
	� 

X� Y�

A� 2 1 

B� 10 2 

         �����: 
����������/������*�	�9� 
��*+�����'���	
�����
�� (	�����*' �����)������, 2548) 



17 

 

������������,���������� 2.2 �����"�����
�� A6$�
����/#$�
$<$��$"����2�����-�������  X ��� 

Y
�����,��"9���������������	
����
�� B ���"����2��������� X 1 ��
	� ���
�� A"9������� 2

��
	� "��)�������
�� B ����"9���������� 10 ��
	� ���"����2��������� Y 1 ��
	� ���
��

A "9������� 1 ��
	� "��)�������
�� B ����"9���������� 2 ��
	� O������
�.�6����?*(�����

�$�� ���& ���������	
�����
��,�6�

��$��-� 

�������������������������$

�!�����$����$�
�,G0<4A98�HIF;7894�J7<K43>�
��������������������������������$���	���
������
�.����$O�-����
�������
�����
����0��
��!�
9
�����$

���	���
��������0�$�����'����+��<������$����1����O�-����
���$�����'����+�#$��)������

�)�"$�,���2W��������O�-�$�����'����+���2W�����������
���$�����'����+�#$�2W�����������O�-�

$�����'����%
����2W��1�
����������
�����
���2W�����1����,�6�
����	�
�����
�������2W����O�-�$�����'

�
�6�"��/0���������
������W
�
�����
����
�.������1����/2W��������������$�����'�6$���
�2W��
������

2W����6$���/
���#����,���
�����
����������&0���,���6��W�
���$�����'��
�.���������O�-����$�����'

����1���$�
����	
��“��������
������” (exchange rate)  #$���$�,1��	�
���/���������"9�"����

���
���,1��	���1 $�����'����+}��
9
����������
���������
���/���
�� 1 $�����'����+
�
���/�

25.75 /�� ����O�-����������������
���������/
��������-���6$����
�	����������$
����,���-���W


��/�0����'����0�������
��������0���-��!�
9
���)������������
������
%���
�.�� 40.00 /���

��$�	
���
�
���/��
������
����(depreciation) 
����
���/��/�
�
���$�����'����+�������
�	����������

�
�
���$�����'����+��<���	����
%����
���-�� (appreciation) 
����
���/��/
���/��������
������
�������


%����
�$����
�	"��
�.�6�����0����'����0��������$�����'����+�����0����'����	
��0�����

�
�
���/��,�
������
�� (�
�$�����'
%����
�) ��
����0����'�����	
��0������
�
���/���<,�
%����
�� (�
�

$�����'����+�$�
��� )  "���)����$6�

���������+/�����1���,"�����1���$��������
������

����������
�����������
9
��
$���1���$6	�����25.75 ���	�����������"��

�.��26.00 /�����)���-


����	
�
�.�����$�
�
���/���(devalue) "�������/�����������������"��

�.��25.25 /�����)���-


����	
��
%����
�
���/���(revalue)  ������/
��������������
������"����$���
8���-�,���-���W
��/

�#�/�������+/�����8�%�	����
��*+��,��8���

�

�

�
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�L!����2.1 	#��$

�!�����$����$�
'��)M��L!��
N�

���������������$�
	
��!
�����OP�
��#�����������������������������������$�
	
��!
��������� �

/��/$                                                /��/$�

������������� 30                                                                 �

�������������25                                                         �

��������������������������            ����100���150��� ��$�����'��������������������������������������100       150       $�����'�

��������������������������"���//��������
������
�����-����
�����0����'���
�������
�����
��� ($�����'

����+)
%����W���-��,��1�"���������
�������
�����
����-�
%�����-�,��� 25 /���
�$�����'����+�


�.��30 /���
�$�����'���������
�
���/��
������
����"��)������)���������
�������������-��
����

�0����'���
�������
�����
��
%����W���-����������
������,�6�
�����
�����������
�����,���W�

�1���$"�������,��1�"�����$6�
��W
"�$0��8�%�O�����+/��,�����
����1���������O��
%���"����W
"�

��$�/$0��8�%�
9
�����
�������
�����
����-������"����$
%���
%����0�������
������

�
�����
���
�.������
����������������������������!���Q����������$�
	
��!
����  ��//��������
��������/
�6$�
�.����
8�

"�;
�!�2 ���
8�����������//��������
�������//������� (Fixed Exchange-Rate System) ���

��//��������
�������//�����	� (Flexible Exchange-Rate System)  ��
��6��<�����-������//

�
�������/�%�
��$�	�������-���-
%���
�.���//����
�������0$��-	��$����-�"��5,,0/��6�
�����
��6��

"9���-������//��-���	�������
2
�����������//��������
��������-�����$����-�,����0�6$�	
���

�5,,0/������//��������
������
%�����-�����2  ���
8�"�;
�!��������//��������
�������//�����

�//��$��0
��������������
�����������	�//,�$�����,����0�6$�	
����//��������
�������/
�6$�


�.��4 ��0
����� 

  1.  ��//��������
�������//������(Fixed Exchange Rate System) 

 2.  ��//��������
�������//��$��0
��(Modified Fixed Exchange Rate System) 

 3.  ��//��������
�������//,�$����(Managed Floating Exchange Rate      System) 

4.  ��//��������
�����������	��
��
����(Freely Floating Exchange Rate   system)�

S 

S 

D/ 
D/ 

D D 

B 

A 25 
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�����������������������R�	����������������$�
	
��!
�����S
����,HTT4F3A64�HIF;7894�E734>�
                             ��	��$��-6$��W�%����
%����1���"9�
�.����-����#$��
K��'�O'�����K������'�"����

%.�. 2513 O���
�.����������//���
������	
�����
�������"9���//
���8����W
�#$�9�-����	��

,1�
�.����,����������	�$��������
����������	��
�.�,����
�����,����������
����������W���$���W


"��W������������
�����������0�
�����-�
���/��/��0�
���/�
��6�
���������,�
�.���	�����$�

����	�����%��&'#$��
	��	����
�������
�����
�����,��1���%�,��)�
����
���/��/
��������0�

����!��-���-���
���������������������
����������	��
�.�,��������0�
�����0�"$��0������,�


�.�2���,�����
����������� 2�����������
����������#$���������������
���������
���

��0���-���/
�����0�
���/�
�������
�����������������O���
��$,�����
�����������
������

���
���������	
��
�����0�
���/�
���/
�����0�����( 	
����0������, 2537 )�

#$����W��"�����1��	)���
��Effective Exchange Rate�$����-�

                  E = � ����
�
�=1                                       (2.1) 

�1���$"�� 

                        E   = ���������
����������	��
�.�,������
�����0�"$��0������
��������� 
���������
����/
���/��/��0
���0�
�������
�����
�� 

                            ��=���������
���������
�����0�����i "$!�	�$"��W�����
�
������
����������������������������� 

���������������������������������������*��
��1���
	�
�������
�����
������i "$!
9
�
���/���
��1���
	����������������������� 

������������������������������������
�������
�����
�� 

                           ��= �
��
	��-1���������i "$!�"9��W)��/��������
�������#$������ ��
�
�=1 = 1 

 

����������������2.1.4 	����������������$�
	
��!
�������	�������S
��� ,E471�HTT4F3A64�HIF;7894�E734>�
                          ��������
������������,���#$�
Y�������������1��
��� Effective Exchange Rate������

EER �����/$�	���$�/����
����/
���/���	
�����
����-�!��/���
���W
����1���;�O���"9�
�.���	9�-

�����$�/��������
���������
���������,����-��,"9�
�.���		�$��$�/�����
�������������

���	
�����
������������������
������������,���
Y�����$���������
�
���/��
%����W���-����$�	
�

�������
�����,��������W���-�
����
���/��/����������
�������$����-�����1�� EER �����/$�	�

��$�/����
����/
���/���	
�����
��
�.��
� � Real Effective Exchange Rate �����REER ,����
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�	��,1�
�.��
%���2�,�����
���������������������
������������,���
Y����,���2�����/�
�

$0��������
������9�-	�$�	��������"������
����$�������
��������%�,��)�,��� EER 
%�����
��


$��	
�.����$W��	#��������������
���������
����1�� PPP �����/�<,�6$��
�
���������/$�	���$�/

����
����/
���/���	
�����
����-�!��/���
���W
�������1���;�
�.�
������9�-+��������
����$���

����
����������
��	
�
����������6���
��6�(9��	���'�	�/W��	��$������)�, 2522) 

#$����W�����"9�"�����1��	)���
��REER $����- 

       REER = EER x P* / P                                                                  (2.2) 

�1���$"�� 

              REER = ��������
������������,��� 
  EER   =���������
������
���������	
�����
���1 ��
	��
�
������"����
�� 
     P*   = ��$�/�����������
�����
�� 
     P     = ��$�/����������"����
�� 
 

��������������������U�	��������������������&
�
�VWP��#(�Q
� (Purchasing Power Parity) 

                         �1���,O�-�
���8��
�.���	��$������
��*+�����'9�	�	�
$��9����0����I����
O��

6$�
�����
��
�.�������
�.����-����
��������.�. 1918�#$�
��"9���	��$��-
�.�%�-�+��"����
���

��������
������������90$"��
"�9
	����������#�����-����������0����"��
!
%���9
	�"��

�	�����%��&'������������/
����W
�8�%���������-���
��-���� PPP (Purchasing Power Parity) �<�W�

�1���"9�#$�&���������
%���
�.���	���"�����1���$�W��
�%�-�+���( Par Value) ���
������

������
�����	��$��-������“�D��
����������
$��	” ����� The Law of One Price O����&�/��	
�

������9��$
$��	���,�������
$��	���
����6�
	
�,�O�-�������"����
��"$�<����������6�

������$,��1�"����������
���������	
��
�����0��
��!�
�����1���,O�-�
�
�!��� 

�������������?*(��1���,O�-�
���8����������/
����6$�
�.�� 2 ��)�$����- 

                       1.��)��Absolute Purchasing Power Parity�����)��)�"$!��������
������$0�8�%

���	
��
������8��"����
������
�����
��,�
�
���/������
	����	
����$�/����

8��"����
�������$�/�����
�����
���#$���������$�6$�$���W���������$����- 
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                                                E = P/P*                                                                                      (2.3) 

�1���$"�� 

E  = �
������������
���������
������"����
���
��1 ��
	���0�
���� 

��������
�������
�����
�� 

  P   = ��$�/����8��"����
�� 

  P* = ��$�/�����
�����
�� 

 

�������������������������������$�/����#$����	6�(
����
������
�.�
��������0�
$��	���),�
�
����"���
��

���
����������,��
�	6$�	
��������9��$
$��	���������
$��	���"��0����
�����	��
��
9
��$�����1 

$�����������35 /��"����
��6������������"����
������+�
�����
�
���/� 1 $�����'�$����-�

��������
������$0��8�%���	
��
���/����/
���$�����'����+�	�
�
���/� 35 /���: 1 $�����'���


���$�����������W���"����
��6��#$������������
������6�

�����������<,��1�"���0����'���

$����"����
��6���W���-���
�2�"������$����"����
����������/��	�W���-�,�
�
���/����

�����"�����+"�����0$ 

                       2. ��)��Relative Purchasing Power Parity��������
����������$0��8�%"������

���
������
��$,�����
����������"�������
	������$�/����"����
������
�����
��#$�


�.����������
����/
���/�1���,O�-����
�����0�"$!"�9
	�
	���������
�����������������������

�1�8�	�
���
I�����
��$��-�"��)�"$�)������
������
	�%�,��)�����
�����,��
���
I��
�.���	,1���$

�1���,O�-����
�������$����-����
�������
���
I��"���$�/�W��
������������
����-�,����
��$���

��
�	������������<������������
���������
�.���	
����( nominal exchange rate)"���"$!����
��
��,��

��������
������"���+��"���$�
	�
$��	�����/
���
I�����
��$��-�"�9
	�����-��$����-���,��
�	6$�	
��

PPP �����	��$�//�Relative ��,��$������������
������������,���� (real exchange rate) 6$�$�	��

�����������$�6$�"��W������$���
�6���- 

                                                              ��  = (	�/	0)

(	�

/	0


)
�0                                                                                (2.4) 

�1���$"�� 

  �� = �
������������
���������
������"����
���
� 1     
������������������������
	���0���
�������
�����
���)�
	���t  
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   	� =���$�/����8��"����
���)�
	�� t  
   	0= ��$�/����8��"����
���)�
	��� O���
�.�9
	�
	�����"9�
�.�+���

   	�

=���$�/�����
�����
���)�
	���t 

   	0

=���$�/�����
�����
���)�
	��� �O���
�.�9
	�
	�����"9�
�.�+�� 

   �0=��
������������
���������
������"����
���
��1 ��
	���0�
���������������� 
                                     �
�����
���)�
	��� �O���
�.�
	�����"9�
�.�+�� 

 
�����������������������1���,O�-�
���8����,
�.��1���,O�-�
���8�����/W�)'�( Absolute) �����1���,O�-�


���8�����%��&'  (Relative) �1���,O�-�
���8�����/W�)'���
�		
����$�/�������"9�"����

���
������������������/���	,�����
�����������	#����?*(���-
�.�
%���������/"9��D��
�����


$��	
�����/��$�/���������
�����
��������,�"9���/��������
���
��9��$���������	����$��-

��-���W
/���������+�����	
��������
���,��1�"���������������6�
	
�9��$"$�<,�
�
����"��0�

���
��������
���
I�����
��$��-��������
���������������������
�������<
9
�
$��	�����1���,O�-�


���8�����%��&'��<�������
������6�	�����������
�������W�����/$�	����
����������"�

��$�/�����
�����
��
����
����/
���/��/���$�/����8��"����
���$����-����
���������������

���
������"�������������
�.���	
����(nominal exchange rate)������������5,,0/����,���	���1���;


%���
�<�����"�����1���$2�����/���,���������
�����������
�
���������
�8��&0���,���

���
��9����$����-�,�%�,��)�2�����/������,���������
�����������
�
���������	��������"�

�����
�����
��,��6�
�	�
�������6�������
���������������������
������"�������������
�.���	


������
,�����%�,��)����
����������"�
������1���,�����0�
��������
����/
���/��/
��������0�

�������������,�����%�,��)������������
������������,����(real exchange rate) (��	�%��2��0�, 2540) 

 

          E = qP* / P                                                                                  (2.5) 

�1���$"�� 

  E = ��������
������������,��� 

  P*= ��$�/�����������
�����
�� 

  P = ��$�/����������"����
���������� 

  q = ��������
������
���������	
�����
���1���
	��
�
������"����
�� 



23 

 

 

�������������������2.1.6���M���
�
XL����'Q��
                             $�9������2W�/��#8��
�.���	9�-	�$���
������������$�/�������������/������#$�


Y�������2W�/��#8�,
��6��1����/��0
����������/���������1���$ 

                             ��0
����������/���������1���$����1�
Y%��
����	
���������������(Market Basket) 

�����0
����������/����������0
�2W�/��#8�
��������
	�"�;
O�-���/��#8�
�.����,1�����,�$������

��������-��6$�����W���,������1��	,�
�"9�,
�����/��#8����2W�/��#8���0
�
��������

                             ���	�$���
����������"�����,�
����/
���/����������"�9
	�
	������
	��

�����!����/������������
��
$��	���"�9
	�
	����-�����O������1�
Y%��
����	
���+���( Base Year) 

"�����(�/�����+���������������1���$"����	
��$�9�����
�
�
���/�100 

                             �-1������( Weight) 
�.��1�����	����/"�
�����$�9�����������������"��

�	���1���;�����������
��������"�����������������
������
%���"�����1�$�9������,�"9�

�
�
Y�����//�
	��-1�������������������0�������"�����������������������2W�/��#8�"9�,
��"����

/��#8����,����	���1���;��������������-1������������,�$�1��-1��������������"��������������<

,��������������W�,������1��	,�
�"9�,
�����2W�/��#8��
9
���� 

 

���������������������Y�������
������
��Z�
��"��[(�$��
����������������������������>������(L
��%��(��

�
                               #$����	6�����W���0���
	�� (time series data)�
	�"�;
,����0)��/���6�
����

(non stationary)������
�	������������<������unit root  #$��������W�,����
�
Y����� (mean) ����
��	��

�����	�� (variance) 
����������6��������
	���������������������,��/�$
/���6�,��

���
�<,,�����1�"���	�����%��&'���	
����	������	�����%��&'6�
���,���� (spurious relationships) 

$����-�����W���0���
	������������1�6�"9�%����)'6$�,�����
�.�����W���0���
	����������*)�����

$����-�,�������1�����$��/�
��	
�����W���0���
	�������*)���������6�
�
                               ����W���0���
	����������*)������ (stationary) ������������������W���0���
	��

��W
"��8�%��������$0�
9������� (statistical equilibrium) O���������������������W���0���
	��6�


�����
����������������
	��,�
����������6����$�6$�$����-�
    1.�1���$"���  Xt ,��+1 ,��+2, … ,��+� ��
�.�����W���0���
	�����
	��� t , t+1, 

t+2 ,…, t+k 



24 

 

    2.�1���$"��    ��+
 , ��+
+1 , ��+
+2, … , ��+
+���
�.�����W���0���


	�����
	���t+m, t+m+1 , t+m+2 ,…,t+m+k 

    3.�1���$"��� Zt ,��+1 ,��+2, … ,��+�  
�.�����,��,��	���
�,�
�.��
	�

����P (Xt ,��+1 ,��+2, … ,��+� ) 

    4.�1���$"���� Zt+m  ,��+
+1 ,��+
+2, … ,��+
+�  
�.�����,��,��	��

�
�,�
�.��
	���� P ( Xt+m , ��+
+1 , ��+
+2, … , ��+
+�) 

                               ,������1���$��-��4 ���$����
�	�X ,�
�.�����W���0���
	��O���,������*)�����


����P(��  ,��+1 ,��+2, … ,��+�) ���
�
�
���/ P( ��+
 , ��+
+1 , ��+
+2, … , ��+
+�) #$�

���%/	
� P(Xt ,��+1 ,��+2, … ,��+� )����
�6�

�
���/� P 

( Xt+m , ��+
+1 , ��+
+2, … , ��+
+�) ���	�,���0�6$�	
�����W���0���
	��$����
�	�����*)�

6�
�����O�������$��/	
�����W���0���
	�������*)���������6�
��-����

$��%�,��)�����
����������&��

"���	
���(Autocorrelation Coefficient Function : ACF) ����//,1�������/G��-
,�����'�(Box-

Jenkins Model) O������%/	
��
��correlation (�) ���6$�%�,��)��
����������&��"���	
����-�����
�"����

1 ���!�,��
�2�"�����%�,��)�����
�  ACF �
������,�6�
���	����
��1��
%���	
����I��$��
��

ACF ����
���	#����$��
�����!����/������,��0�6�
6$�
��������
%�������/���)'���

����
�������1�"��
��$�	����$
������6$��$����-��$����-� – I�W
���'�(Dickey and Fuller, 1979),��

%���������	,��/����W���0���
	��	
������*)���������6�
�#$�����$��/�W����W�(unit root) 

����������������������������������	�&����,�,�$�����/����W���������*)�
�.�� non-stationary����6$���/�	������

�%�
��������	�&�  cointegration �����error correction mechanism (�������'�����
���, 2538) 


�����,��
�.�
���������"����	�
�����'�	�����%��&'
9��$0��8�%������	 (co integrating 

relationship) 

 

����������������������������>��
���#���\8A3�E003 
                               ����$��/ Unit Root ���
�.���-�������"�������*�8��"��	�&�  cointegration 

and error correction mechanism ��-������-,�
�.�����$��/��	������
��*+��,�
��!  ���,�"9�

�����
%���$W�	��
�.�  stationary [I(0); Integrated of order 0] ���� non-stationary [I(d); 

d>0,Integrated of order d] �����	����������� O������0��"���//,1����
�.�$����- 

                                               Xt = � Xt-1 + ��                                                                           (2.6) 

#$����  
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Xt , Xt-1 ��� ����W���0���
	�������	�������� ) 
	�� t ��� t-1 

��   ��� �	�����$
������
9���0
� (random error) 

 �           ��� ���������&����������%��&' (autocorrelation coefficience) 

����"�� � = 1 

,�6$�	
� Xt = Xt-1 + ��  ; ��  ~ i.i.d (0,��2) 

�����+�� ��� 

H0 : � = 1 (�����	��	
� Xt ���W����W����� Xt �����*)�6�
����) 

H1 : |�| < 1; -1 < �< 1(�����	��	
� Xt 6�
�����W����W����� Xt �����*)�����) 

 

#$���������/ H0 : � = 1 (�����	��	
� Xt ���W����W� ���� Xt �����*)�6�
����) 

 ��
��������/ H1 : | � | < 1 (�����	��	
� Xt 6�
���W����W� ���� Xt �����*)�����) 

 

                               ������*��
	�"�;
���2
����,���������$��/  Unit Root ���
���#$� David 

Dickey ��� Wayne Fuller O����W�,�����$�"�9������ Dicky-Fuller Test �������/
����6$�
�.� 2 	�&� 

(Pindyck and Rubinfeld, 1998) ��� 

��������������>�DAFK4=-G2114<�:4/3�,DG>��1�����$��/��	������
������6�	6����

9
	�
	�������*)�
�.� Autoregressive model #$�������
�����W��//��������6$����
�.� 3 

�W��//���� 

 

                     Xt = � Xt-1 + ��                                                                         (2.7) 

                     Xt = � + � Xt-1 + ��                                                                  (2.8) 

                     Xt = � + �t + � Xt-1 + ��                                                          (2.9) 

 

#$����     Xt         ��� ��	������
���1�������*� 

�����   ��� �
�%�����
���' 

              t            ��� ��	#���
	�� 

            ��  ���������� ��	����0
� ������,��,��//�������
�.�������
�������
��������     

                             (independent and identical distribution)#$�����
�
Y����
�
���/ 0 ����
��	��   

                             �����	������ 
�������$�	���;���*)' ��~ i.i.d (0,��2) 
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                               ��������,�
�.�����������$����  ��)��W��//�����	������6�
�������  �)����

�����������,�
�.��W��//���������������(�
������  ���������0$������$�����W��//���

������������-��
������ �����	#���
	�� 

                               "�����$��/	
� Xt �����*)�
�.� stationary process [Xt ~ I(0)] ����6�
 �1�

����$��/#$���������������-�����W��//"����W
"��W���� first differencing ( Xt) 6$�$����- 

Xt = Xt - Xt-1 = � Xt-1 + ��                                                       (2.10) 

Xt = Xt - Xt-1 = � + � Xt-1 + ��                                                (2.11) 

Xt = Xt - Xt-1 = � + �t + � Xt-1 + ��                                        (2.12) 

#$����            � = (�–1) 

������������������������������������>�-29?48345�DAFK4=-G2114<�:4/3� ,-DG>� 
�.�����$��/ Unit Root ���

	�&���������%������,�� DF Test 
�����,��	�&� DF 6�
�������1�����$��/��	���"���)����
�.�  

serial correlation "��
� error term (�� ) ��������*)��	�����%��&'���
��"���$�/�W�  O���,������


%��� Lagged Change  [� ��
�

�=1 ����� ] 
��� 
���6�"����������	����,�6$�	
� 

 

Xt = Xt + Xt - 1 = � Xt - 1 +[� ��
�

�=1 ����� ] + ��                                 (2.13) 

 

Xt = Xt + Xt - 1 = � + � Xt - 1 +[� ��
�

�=1 ����� ] + ��                        (2.14) 

 

Xt = Xt + Xt - 1 = � + �t+ � Xt - 1 + [� ��
�

�=1 ����� ]  + ��              (2.15) 

 

                               O���%,�'���"�

���6���-� ,1��	� lagged term (p) �<��-���W
��/�	��
���������

��
�����	�,�� ����������"�
,1��	� lag 6�,��������6�

��$�5;�� autocorrelation "��
	���� 

error term (Pindyck and Rubinfeld, 1998) 

                               #$�����$��/�����+����-�	�&�  Dickey-Fuller test ���	�&�  Augmented 

Dickey-Fuller Test �$��/	
���	������
����", (Xt) ��-��� Unit Root ����6�
 ������%�,��)�6$�
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,���
� � ���
�
�
���/ 0 ��$�	
� Xt ��-��� Unit root O���������
���������+��"�����$��/6$�  

$����- 

 

H0 : � = 0 

H1 : � < 0 

 

                               �$��/�����+��  #$�
����/
���/�
�  T-statistic ����1��	)6$���/�
�	��?�  

MacKinnon O����
� T-statistic ���,��1����1�����$��/�����+��"���
���W��//��-�,������1�6�


����/
���/��/������
�	��?�� MacKinnon ) ��$�/�
��! ����������D�
�&�����+��6$�  ��$�	
�

��	�������1����$��/
�.� Integrated of order 0 ���6$�$�	� Xt ~ I(0) �����������$��/��)���� � 

�
	���/ drift term �����
	���/ time trend coefficient �����$��/ � �
	���/ drift term ��� time 

trend coefficient "��)�
$��	����������$��/#$�"9��
�  F-statistic O���
�.� joint hypothesis (

 1 2 ��� 3) 
�.�������$��/�1����
����/
���/��/�
�  Dickey-Fuller Tables (Enders, 

Walter,1995) O���"�����$��/�������� (2.11) ��� (2.14) �$��/8��"�������+�����	
� � = � = 
0 ,�"9�  1 statistic 

                               �)������������ (2.12) ��� (2.15) �$��/8��"�����0��+�� � = � = � = 0"9� 

 2 statistic �1����/����$��/8��"�������+��  � = � = 0 "9�  3 statistic "�����$��/

O����
������$����
�	�������1��	)6$�$����- 

 

                                     �
(���)(���������� )

�(����� )
(2.16)

#$����

���� The sum of square of residuals from the restricted model 

����� The sum of square of residuals from the unrestricted model 

               N Number of observati

               K Number of parameters estimated in the unrestricted model 

               r Number of restrictions

                               ��)����2�����$��/�����+��%/	
� Xt��� Unit Root ��-������1��
� � Xt ���1�

differencing6�
�����! ,�������(�
�&�����+�����	
�  Xt 
�.� non-stationary process 6$�
%������/ 



28 

 

order of integration (d) �������	
� [�$��/	
� Xt ~ I(d)] ����6�
,��1�����$��/����W��//

�����$���
�6���- 

 

              ��+1  Xt = � + �t + (�-1) ��Xt-1 +� ��
�
�=1 �

�+1���� +��                  (2.17) 

                 8������,�����/�
� d (order of integration) ���	�����1���� differencing ��	

��� (
�
���/ d+1���-�) �
�����,��1���	���$����
�	���1����  regression 
%�������
������5;��

spurious regression ������	
�	�&���-,�6$���/�	������"9������
���%�
���� ��
�������1�$����
�	,�

�1�"���//,1�������6$�,����������)��$����W�"��
	����������/��	�����	����
��! 
%���
����W


$0��8�%������	 (�������' ����
���, 2538; Hataiseree, R., 1996) 

 

��������������������������3)�	����������������
(#�(]�� Ẑ�M���%
�Q
])������
��,B0A8349<73A08>�
                               Cointegration 
�.�����$��/��	����
��!  ����1���"9�	
����	�����%��&'"�

������	��������/06	�"��?*D�����6�
  �������������W����
��*+��,���
�.�����W���0���
	��

(Time series data) �
	�������,������*)� non-stationary ��
�	��� �
�
Y���� (mean) ����
��	��

�����	� (Variance) ,����
�6�
��������
����������6�������
	���1�"���	�����%��&'���	
��

��	��������������	�����%��&'6�
���,���  (spurious regression) #$����
��6$�,���
������

/����
������ �
� t-statistic ,�6�

�.�����,��,����
�.�����+��  ����
� R2 ����W� "��)�����
� 

Durbin-Watson (DM) Statistic ��W
"���$�/��1� ��$�"��
�<���� High level of auto correlated 

residuals ,��
�.����������,������/6$�"����
��*+�����'  (Enders, Walter, 1995; Johnston, Jack 

and Dinardo, John, 1997) 

                               	�&����,�,�$�����/����W���������*)�
�.�  non-stationary ���6$���/�	������

�%�
���� ��� 	�&� cointegration ��� error correction mechanism (�������' ����
���, 2538)


�����,��
�.�
���������"����	�
�����'�	�����%��&'
9��$0��8�%������	  (cointegrating 

relationship) 	�&�$����
�	�/
����6$� 2 	�&���� 

  1) Two-step Approach ���
���#$� Engle and Granger 

  2) Full Information Maximum Likelihood Approach ���
���#$� Johansen and 

Juselius 

                               	�&������� Engle and Granger "9�
%����$��/	
���	������	�����%��&'�����


�����8�%"�������	 (cointegrating relationship) ����6�
 O���	�&���� Engle and Granger ,��1�
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�����/0	
���	���"$
�.���	�����������	���"$
�.���	��������O���6�
��������$�  multiple 

cointegrating vector 6$� ��)����W��//����	�����%��&'����	
� 1 �W��// 

                               �1����/����$��/  cointegration ��-� "��"9� residuals ,��������$�� �

(regression equation) ���
����������$��/ cointegration O����<��� ��  ���1�����$���$�������

$���
�6���- (Gujarati, Domodar N., 1995: 727) 

��� = ����1+ Wt                                                                 (2.18) 

 

#$����   �� , ���1 ��� �
� Residual ) 
	�� t ��� t-1 ����1�����������$���"��
 

                 �            ��� �
�%�����
���' 

               Wt  ������ �
��	�����$
������
9���0
� 

 

                               ����1��
������  t (t-statistic) O���6$���,��������
	����  � / S.E. � 6�


����/
���/��/�
�	��?�� MacKinnon (MacKinnon critical values) #$���������+��$����- 

 

                               ���0��+��"�����$��/ ��� 

             H0 : � = 0 (6�
���	�����%��&'
9��$0��8�%"�������	) 

             H1 : � < 0 (���	�����%��&'
9��$0��8�%"�������	) 

 

                               ����$��/�����+��
����/
���/�
�  t-statistics ����1��	)6$���/�
�"������  

ADF Test O�������
� t-statistics ����	
��
�	��?���� MacKinnon�) ��$�/����1���;����1���$6	�

,���D�
�& �����+�� $����-� �
	������������
	����
����  (Residuals) �����*)����� (Stationary) 

���� Integrated of order 0 ���$�	� I(0) ���	��$�	
� ��	������	�����%��&'
9��$0��8�%"�����

��	 

 
���������������������������4)�H<<0<�B0<<4F3A08�J4F;78A/?/_�HBJ�
                               
�.��//,1��������&�/���/	�������/��	"�������-������	����
��!  "�

�������� (2.19)�
%���"��
����W
$0��8�%"�������	6$�  ��������$�6	�"���������  (2.20) ��� (2.21) 

#$��1�������2�����/���
��$��-�,���	�����$
���������
��$,��������/��	�����	����
��!  "�

������	 (Kt) 
���6�$�	� O�����������$�6$�$����- 
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                                                Kt = Yt – �t – �Xt                                                                 (2.19) 

                                       �Xt = �1Kt + [lagged (�Xt , �Yt) ] + �1t                                           (2.20) 

   �Yt = �2Kt + [lagged (�Xt , �Yt) ] + �2t                                           (2.21) 

 

#$����    �Kt = Yt + � Xt – Kt-1 
�.���	 Error – Correction Term (EC) 

   �1t  = �2t 
�.� White Noise 

          � 1  = � 2 
�.� Non – Zero 

 

                               ,���	�����%��&'�������D"� (2.20) ��� (2.21) ���
���������������	���

(�Xt ��� �Yt) �
����-���W
��/I5��'9����� Distribution Lag of First Difference of Xt ��� Yt �	�

��-���	 EC Term ����
����6������9
	�
	�� (Kt-1) �W��//������/��	"�������-�����//,1����

��� ECM Model ��������$�"������ (2.20) ��� (2.21) ��,���������	��6$�	
�
�.���6����

���������/��	"�������-�  
������//
��*+��,��$�	����$0�  
%���"��
����W
8�	�$0��8�% (Yt = 
�Xt-1) 

                               �//,1���������$����������/��	"�������-�����W��//���  EC model ��-�

�����������/�//,1���������$����������/��	"�������-�  ���
����	
�  “General-to-Specific 

Approach” �//,1�������
��*+��,"����*)������	  #$�,�%�����"���W��//������/��	"�

������-�����//,1�������
��*+��,�W��1���$#$����*)��������W�"��//,1������-�! "�����

����0$
�
�����������1�6$�  
��02��<��� �?*D����
��*+��,�
	�"�;
������"9�
�.�
������9�-���"��


�<�	
���	������
��*+��,"$/������
��$$0��8�%���
��*+��,"�������	  (long-run economic 

equilibrium) �?*D�
��*+�����'�
	�"�;
6�
������"9�
�.�
������9�-���"��	
�������/��	"�����

��-� (short-run adjustment) �����	����
��! �����W
"��//,1����
��
���-�,����W��//�����W����*)'

��
��6�/��� ���
��*+�����'��0
���-,��
�<�	
�  �	����,���
��"������W�
�.���	�1���$�W��//���

���/��	"�������-�"���������0$ O����������1�6$�#$�����1���$�W��//������/��	"�������-�"��

�����*)�
�.�������	6�"���������0$
�
����������,��1�6$��
��  ����,����-�,��"9���������$��/

��������/����
�� ����	��
��
9
� F-test 
%����,�$��	������6�
������1���;��������"����,1��	��$��


�����! ����1�$�/ (test down) ,������-�6$��������-��0$����  (final parsimonious equation) ������
�

�����������$����������"9���$��W��//������/��	������-������	����
��! "��//,1������-�! 

6$� (�0	$� ������W�, 2548) 
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���������������������������U>��������
�!��(
`� 
�-EDa�	
��HBJ�
                  �//,1����
9��%�	���  (Dynamic Model) #$����	6�,������/6�$�	��
�

�5,,0/�������	�������	���
�9��  (Lagged) �����	�����W
"���//������
	����  O�����//

�����"����*)�$����
�	�����������6$������W��// ����
9
��� 

�//,1���� Distributed Lag Model 

                                                                      ��  = �1  + �2��+ �3���1 +  �                                             (2.22) 

 

�//,1���� Autoregressive Model 

                                                                     ��   = �1  + �2��  + �4���1 +  �                                           (2.23) 

 

�//,1���� Autoregressive Model 

                                                             ��   = �1  + �2��+ �3���1 + �4���1 +  �                                  (2.24) 

  
                               O�����//������������	��
����$����
�	���
�.�����1�$�/  order  �������W����


�
���/ 1"����'�����/��� Autoregressive $������� (2.23) ���
�.��1�$�/�������W����
�
���/  1 

"����'�����/��� Distributed $������� (2.24) ,��
����6$�
�.� ARDL (1,1) $������� (2.25) 

��������//�����������1�$�/�������W�
�.�  ) �1�$�/ order "$! #$������"��
�.� ) p ��� q 

���	,��
����6$�
�.�  ARDL (p,q) �����$��	�����%��&'"��
�.��W��//�����6$�$���
�6���-  

(Universityof Strathclyde, 2003: online) 

 

                             ��   = � + �0��+ �1 ���1+ … + �!  ���!+ "1���1 + … + "�����  +  �      (2.25) 

 

                               #$����	6����*)�����	�����%��&'���
�.�  ARDL ��	����
��! "������

�$���,������/$�	��
��	���
�9�������	�����������
��5,,0/����/�
��	���
�9�������	���

�&�/���������	�����������������	
���-�  O���#�����������
�.��	���
�9��"����*)������
�	����-�

�������1�����Generalization "��
�.������"��W� Lag polynomial 8��"��
�����6�����
��	��

���$
������ (error term) O������$�	�  �  ����
�.� white noise ������
�
Y���� (mean) 
�.��W��' ���

�	�������	�(variance) ����� ���	��//�����
�.� ARDL (p,q) O�����W
8��"����	����&�/��
%���

�������	���������$�6$�$���
�6���- (Johnston and Dinardo, 1997: 224-248) 
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                                                A(L) ��  = a + B(L) ��  + �                                                        (2.26) 

#$���� 

                           A(L) = 1 - "1L -  "2#
2 - …….. -  "2#

� 
                           B(L) = �0 + �1L + �1 #

2+ …….. + �1#
!  

 

                               ���
%�����	����&�/��
���6�"�[5���	���������  (right-hand-side) #$�"��


�.� ARDL (p, !1, !2, …., !� ) ,�6$�$��������
�6���- 

 

                          A(L) ��   = a + $1 (L) �1�   + $2 (L) �2�  + ….+ $�  (L) ���  +  �                 (2.27) 

 

                               	�&�������	6�
%���"9����/����,�$�W��//��������
�.�  Dynamic Adjustment 

Process�
%���
����W
��� parameterization ����//,1����"����W
"��W��//���  ECM ��-� ����	��
��

���
�.� Simple ECM $���
�6���- (Leighton, Thomas R., 1993: 152-154) 

 

����� ��//�����������	�����%��&'"�������	�W��1���$#$������ (2.27) $����- 

 

                                                                     ��    = �1  + �2��                                                                   (2.28) 

 

                               ��

�����,����	��� y ��� x 6�
6$���W
"�$0��8�%���$
	��,��6�
��������

�	�����%��&'"�������	6$�#$����  ��

�����������	�����%��&'�����$$0��8�%  $�	����

%�,��)�����
��	���
�9�������	���$����
�	 O�����$�6$�$��������
�6���- 

 

                                   ��   = �0 + �1��+ �2���1+ "1���1 +  �  #$���� 0 < " < 1                       (2.29) 

 

                               ,�
�<�	
������ (2.29) ����$�/�����	������
�.� Non-stationary �����W
"��W�

ARDL (1,1) ���
�����1����,�$�W��//�����"��
������-�����1����  reparameterised #$�����/

$�	� yt-1 ��-� 2 ������������ (2.29) ,�6$�
�.������ (2.30) $���
�6���-�

                                    ���  = �0 + �1��+ �2���1- (1-") ���1 +  �                                              (2.30) 

 


�����,�� ���  = ��  - ���1��� ���  = ��  - ���1,��,�$�����"��
6$�
�.�$����- 
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                                    ���  = �0 + �1���  - (�1 + �2) ���1 - (1-") ���1+  �                             (2.31) 

 

,����-���������� resparameterise ����� (2.31) 6$����
�.�$����- 

 

       ���  =  �0 + �1 ���  - (1- ")[ ���1- �2���1] +  �  #$���� �2   = (�1 + �2)/ (1 - ")     (2.32) 

 

,����-���������� reparameterise ����� (2.32) 6$����
�.�$����-  

 

       �� = �1���  - (1 - ") [���1-�2���1] +  �    #$���� �2  =  �0 / (1 - ")                         (2.33) 

 

                               Y���-� ����� (2.33) ���
�.� ECM #$�������
���������������	���  y ,�

��-���W
��/���
���������������	���  x ���
������  [���1- �1  - �2���1] ������
�.� 

disequilibrium error,��9
	�����
	���
������  ����
� �1  ��� �2  �<
�.� parameter ���

�	�����%��&'"�������	"������  (2.28) �����-��
� - (1 - ") "������ (2.33) �����������$��

����	��2�$%��$�
�����,��  0 < " < 1 $����-��
� - (1 - ") ���6$�,��
�.��
��	��
�<	"�������/��	�W


$0��8�%"�������	,�� ECM "������ (2.33) ������%�,��)�2�����/��-�������-��������

��	6$��
�����,����	%�����
���' (parameter) �1  ��� �2  �������("� dis-equilibrium error term "�

����� (2.33) �<�����	%�����
���'"�������	��������  (2.28) �����-����������&'��� ���  ���� 

� �	���-� " ���
�.���	%�����
���'"�������-����	�$2�����/#$������"�������-������	���  y 

,�����
���������������	��� x 

                               ���,����-�  ECM ������	����$����������/�//,1��������1�
���#$�  

Hendry (1979)�������
����	
� “General-to-Specific Approach” 
�����,���?*D����
��*+�����'

�
	�"�;
6�
������9�-���"��
�<�	
�������/��	"�������-������	����
��!�����W
"��//,1����

��-�!	
������*)�
�.���
��6�6$� "��)����$0��8�%"�������	��-� ���/������9�-"��
�<�	
���	���

���
��*+��,"$/������,��
�2�����"������&�/��	
������*)�
�.���
��6�6$�������	
���	���,�

Cointegrated ������	�<���  ��
�	�����%��&'"�������-�������������*)�
�.�  dis-equilibrium 

relationship ,��W���$�$�	� ECM 
��� �����-����	�
�����'���
�.����*)���������  Cointegration 

��-����/6�
6$���
�	����W��//�����
�����
��
��"$  ���#������������	���
�9���<6�
������

�&�/���	�����%��&'"�������-�6$���
��9�$
,����
9
����  $����-�
��,��
�<�	
��	���
��"������W�
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�.���	�1���$�W��//������/��	������-�"���������0$#$����"�������*)����	6�"���������0$

�
������,����-�,��"9�����������������$��/
9
�  F-test 
%���"����	������6�
������1���;��������

�$��
�����! ����������/	�������
����	
�  test-down procedure ,��������6$������������
���������$�

���������"9���$��W��//������/��	"�������-������	����
��!  "��//,1������-�!6$�  

(�������'����
���, 2538: 29) 

                               �&�/��	�&���� “Hendry-type general-to-specific methodology” #$�����	��
��

,���//,1���� ARDL(p,q) #$���� p = q = 2 6$�$���
�6���- (Leighton, Thomas R., 1993: 155-157) 

 

                                    ��  = �0 + �1��+ �2���1+ �3���2+ "1 ���1+ "2���2+  �                   (2.34) 

 

����1����,�$�W������ (2.34) "��
6$�$����- 

 

���  = �0 + (1 - ") ����1+ �2���+ (�1 + �2) ���1- (1- "1- "2) ���2+ (�1 +�2    
            +�3) ���2+ �                                                                                                               (2.35) 

 

,����-� reparameterising ����� (2.35) 6$�
�.� 

 

���  = ("1  - 1) � ���1  + �1  ���+ (�1  + �2) ����1  - (1 - "1  - "2) [���2  - �1  - �2���2]  
             +  �                                                                                                                                  (2.36) 

 

#$����  �1  = �0 / (1 - "1 - "2)  ���  �2  = (�1 + �2 + �3) / (1 - "1 - "2)                            (2.37) 

 

                               
�����,�� �1  ��� �2  
�.� unknown ,������� (2.28) ,��6�
�����������)

�
�6$� ��
�����������)�
�
�������"������  (2.35) �
�� ����1���"�
"���������  (2.37) 
%���

�����)�
� �1  ��� �2  ������-�,���������&�/���	�����%��&'"�������	6$�  ���
�����,�����

%�,��)��	�����%��&'"�������-�"��//,1���� ECM $�������
�	�� 

                               ,�
�<�	
������ (2.35) �W� reparameterization /�9
	�
	�� (period) t-1 ���� t-
2O������6$�$�	� 

���  = �� - ���1���� ��  = ���1+ ���  ,�6$�	
� ���1= ��  - ���$����-� ���2 =���1- ����1 

���= ��  - ���1 ���� ��  = ���1+ ���  ,�6$�	
� ���1= ��  - ���$����-� ���2= ���1- ����1 
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���	�1�6����"������ (2.35) 6$����,�$�W��//
�.�$���
�6���- 

 

 ���  = �1� ��  - "2 ����1- �3����1- (1 - "1- "2) [���1- �1  - �2 ���1 ] +  �           (2.38) 

 

                               ,������� (2.38) ,�
�<�	
� Error Correction term ���	�����%��&'��/9
	�
	�� 

(period) t-1 �����	�������! ��-���$,�
�.�9
	�
	���5,,0/����/
�.��	���
�9�������2��
���1�$�/���

����� 

                               ���,����-� ,������� (2.36) 
�.� ECM #$� term [���2- �1  - �2 ���2] ��-� 

��� dis-equilibrium ,�� 2 period �
��������-� $����-�������1�$�/ order ��� m ������/	���� 

general distributed lag ���	,�������
�����W��//�����6$�
�.�$���
�6���- 

 

                        y = �0  + � "�


�=1  ����  + � ��


+1
�=1 � ����+1  +  �                                        (2.39) 

 

                               $����-���������	6�$������� (2.39) ,������O��������� ECM ����	
� 1 �1�

"�� Hendry methodology %������1���� testing down procedure 
%����1���$"�� ECM ������

�&�/������W�6$�$�����0$ 

                               ��
��6��<��� ECM �<��W
/�%�-�+���������0��'"9��	�����%��&'"�������	

���	
����	����
��! Y���-�
��,���������
",6$���
��6�	
� �	�����%��&'"�������	��-�����W
,���

����
�.� Cointegration ����6�
 ���������
�.����	
��,���
",	
���	���"� ECM ���
�������)�
�

��-���� Stationary ����6�
 
��
���-
�.����,1���$�����	���  Non-stationary O������"9�
��������
�.� 

Standard regression 
9
� ���"9� OLS ,�6�
����������0��'"9�6$�  "��)����
�����Cointegration 

,�����������$��/ Stationary �������W���0���
	���
���������
����	
�  ����$��/ Unit root 

O����������"9�#$�����<��� Augmented Dickey-Fuller (ADF) test ������
���������"������W�
�.�  

Stationary ��-�
�������1���� first difference ���$�	� second difference 6�
�����! ,��������

�����+�����������-�6	�	
���	���
�.�  Non-stationary (�� unit root) ��-�,��W��(�
�& ���%/	
���	

����
��!��-����0)��/��� Stationary �����$�/��� differencing "$! 
9
� ��  ~ I (d) 
�.���� 

                               ,����-��<�1����%�,��)��������$��/  Cointegration O���#$����	6���-�  

�	�����%��&'
9��$0��8�%���	
�� 2 ��	�����0���
	�� x ��� y ��-�,�
����W
����$��/6$�������  I 

(d)���W
 ) order 
$��	��� ���	�1���������)�
���� dis-equilibrium errors ���� residual #$� OLS 
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#$��1�����$��/�
� residuals 	
�
�.� Stationary ����6�
 
9
����  �~ I (0) �����������(�
�&

�����+���������
�.� Non-stationary 6$� ��$�	
���	��� x ��� y ��-��W

�.� Cointegrated ���	
��

��� ��-���- Engle and Granger 6$�
�����������"9��$��/  Cointegration ��W
 7 	�&� ����
9
� 

Cointegrating Regression Durbin-Watson (CRDW) test ��� Cointrgration ADF test 
�.����

(Leighton, Thomas R., 1993: 165) 

 

�����
��������������������
����������
����/
���/2�����/�����������
������������,����
�$0������������0
����
����
O���

���6$�����������/���
������+�
�����������
��,��
�.�������*�
%���	�
�����'���
����/
���/

���2�����/�����������
������������,���������
�$0����������	
�����
�������0
����
��

��
O������6$�������1���������/���
������+�
�����������
��,���#$�6$���������*����	�,�����


����	����$����-�

���������B2/;?78� ,�bc�>��1�������*�"�
������	��
����������������
������������,���������2��
�

���������	
�����
���������
�����"9��1�������*������/$�	����
���
��!�������
��

����?*����
��
����������
��[����
������
�������$��������
��;���0\��#$�"9�����W���-���
�

����.�. 1965-1975 O���"����	�
�����'��-�� Cushman�6$�"9���	�	����$���� Hopper ����

Kohlhagen ���1���$�//,1�������"9��&�/������0��������
���������$�/�����������
����O���

"��//,1������-6$��1�
����	������
����	������/�	��
����������������
������
�.���	����&�/��

��	��������"��//,1�����2�������*�%/	
���	��
����������������
�����������2��
�������

���	
�����
���#$�"�������	��-�����
%�����-������������
������������,���,���2��1�"�������)

���������	
�����
��
%�����-�"��)�������
%�����-�����	��6�
��
��������������
������,���

2��1�"�������)���������	
�����
���$������"��
	�����������������	
�����
��,�


������������
��6���-��,���-���W
��/����1���;;����������	
�����
��������
���W
���%������/

��-���W
��/�5,,������!�����2��
��������������	
�����
���
���������-29/3A84� ,�bbd> �1�������*��	�����%��&'"�������	���	
����������
������������,���  

(Real Exchange Rate) ��/$0������� O���"9�����W����6����� ��-���
�� 1973-1991 ������
��"�


�
9�� 9 ���
�� 6$���
 ���
��
����� ���
������#��' ���
����
�
O�� ���
�����
$�� ���
��

���#$��
O�� ���
����������� ���
���������� ���
��I��������' ������
��6�� #$�����1�

����$��/ Cointegration %/	
� �� 7 ���
�� ��� ���
��
����� ���
������#��'  ���
��

��
�
O�� ���
�����#$��
O��  ���
���������� ���
��I��������'  ������
��6�� ��������
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���
���������	�����%��&'"�������/	���/$0�������  �
	���� 2 ���
�� ��� ���
�����
$�� ���

���
���������� ���	�����%��&'���	
����������
��������/$0���������"�������/	� �����-�6$��1�


��������/	����  Johanson Maximum Likelyhood Procedure ���$��/
%���
���  %/	
� 

Cointegrationvector �����*)�
�.������
$��	  ������	�����%��&'���	
����������
��������/

$0���������"�������/	�"� 8 ���
�� ��
	�����
����
�
O�� 

���������B7.7114<0� 785� B0<.0� ,�bbU> ���*�2�����/����	��6�
��
��������������
���������

���,����
�����
����#$�������*����-���-6$����*�#$�"9��//,1����� simple risk-aversion model 

6$��1�������*�"�� 6 ���
�����%�������	������*����-���-6$����*�����	�����%��&'����	��6�


��
��������������
������������,����
�����
����#$����	�����%��&'����Convexity ����1�6�

��/�����
�����,��������*�%/	
����
%�����-�����	��6�
��
������������$������/�
��	��

��$�	�����2���/������8������
�����#$�������0����2������6$���
�5,,�����2����
�.���	

����1���;����1�"���	��6�
��
����������
������2�����/�������
%�����-�����	��6�


��
��������������
������������,���� 5 %��2��1�"��"�������-�����
�����$��� 2-30% ���"�

������	,�������2�����/����	
�"�������-� 

������������ee
����$#%#����,�URd>��1�������*����&�%������������
������������,����
�����
����

�������1�
����"�������*���-"9��?*D��
����
���  (Effective Exchange Rate: EER) ���$�9����
�

���
���������,����(Real Effective Exchange Rate Index: REEI) #$�����1��?*D��EER���
9����#��

��/�?*D��1���,O�-�
���8���( Purchasing Power Parity: PPP�
�.���	�//"�������*�"9�
�����0�

���
��������	���1���;�������������	���1���;������
����,1��	���-���$� 7 ���
���6$���
�


�������;���0\��
�
&��'���$'���
�
O�������#��'�����?*��������+�
���������
	��-1�����$�	��W��
�

������
�����W��
���������������W��
��������	��#$�"9�����
	��-1�����$�	��W��
���������	�
�.�

��	���"�����&�/���O���2�������*��/
�6$�� 3 ��������9
	����%.�. 2524-2527 $�9���
�
���/�����

���,������
���1��	
���$�/
�<���������6$���������/��	�W���-�
�����!,�����������%.�. 2528-2529 

$�9���
�
���/��������,���6$���W
"���$�/���
������������W
"���$�/� 100-102���-���-
�.�2���/
�����

,������$�
�
���/��"��������%.�. 2527��1����/9
	����%.�. 2530-2533 $�9���
�
��������������

�W���-�
�����!�
�����,�����"9���//��������
�������//������
�������,����������O����

������#$�"���
�
���/������$�/��1��	
��	��
�.�,����
%���2��
�����
�����������1�
����"��1�$�/

�
���6$��1�$�9���
�
���/��������,���"�����1��	)����
	��-1�������"�
"��//,1�����W��
��1�
���

�������
��������	�����%��&'"��W�������$���������	���� (Multiple Regression) 2�

������*�%/	
�$�9���
�
���/��������,���,���2��
�����
��������	
�����1�
��� 
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������������
]��X
#%��(2540) ���*�2�����/�����������
������������,����
�$0�������������
��

6�����	���0������'���������*�
%������*����
����/
���/2�����/�����������
���������

���,���
Y������/��������
������
Y����������
�$0�������������
��6���#$��������0��'�?*D�

�1���,O�-�
���8���( Purchasing Power Parity) ��"9�"�������/�
�
���/��������,����
%����&�/��

�5;�������$$0�������  O���"�������*�6$�%�,��)�#������������1�
�������#�����������

�
����������������
��6���#$����������*)����
��*+��,������������0�#8�/��#8��������

��-��������	���0$�/��������0���������������!�#$�
�������
���W
����1���;������W��
����������	
��

���
����/���
��6��"��W��
�����W�� 10 ���
���O�����$
�.���$�
	������)������� 70 ����W��
�

���������	
�����
�����6��"����%.�. 2539 6$���
����
������+�
������;���0\��
�����������9

��)�,����
�
&��'���$'�
�����"���6���	���K
�������
�
O����������#��'�O���6$�%�,��)�
�.����

6������
������-���
6��������������%.�. 2529 ,����6������0$����������%.�. 2539�#$�"9�	�&�

�
	��-1�������������
������$�	���$�
	��W��
��������	�� (Total Trade Weight) ����-1������
��!

�1��	),������W����������	
�����
�����6����/���
���W
�������1���;$����
�	��1����/����


����/
���/���	
�����
���"9�$�9������2W�/��#8�� (Consumer Price Index) #$�"������%.�. 2533 

(6���������1) 
�.���+���

��������2�������*�%/	
����������
������
Y����,���2��
�$0�����������	
���������
���������

���,���
Y�����#$�%�,��)����������&�������������
�������O���9�-"��
�<�	
����
��6���������
���


I��#$�
Y�����W��	
����
���W
����,���
�2�"����������
������������,���
Y�����$�������
�
���/��


%�����-������6�
��������/
������"����$�������/��������
����������	��,������
�.���W
,��
�2�

�
��	��6$�
����/"�
9�������
�������$������������	
�����
���$0������������	�����������


��*+��,6�� 

���������"����f#�� %̂Z� M
e#%���� ,�UdU>��1�������*�2�����/,����������
������6��������
���W


��
�����
��W��
��������
����6���W
���
������+������  #$��W��
��������
������-��������0
�

����������1���;���6�� 8 ��0
������� 6$���
 ��0
��������������
�  ��0
��������0���
����0
�

���%������2���8�)�'  ��0
�
���������� ��0
����
������9�-��
	�  ��0
���;�)����
���������$�/  

��0
�
������,��� ��0
�
������"9�6II��  ,����-��1�����1��	)$�9���
�
���������,��� : Real Effective 

Exchange Rate ($�9���
�
���/��6�� ) #$��1��	),���
�
���/��
���/��/�
�
Y��������
�
���

���
���W
��
��������1���;���6���
	��-1�����$�	���$�
	�������#$�����1��	)"9�
$������0����


�.���+�� ������6$����9�9����������+�
�����  O������*��	�����%��&'"��W��//��������

�$��� �1�������*�
�.����
$�����-���

$������0���� 2540 ���
$���&��	��� 2542 
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�$�9���
�
���/��6��  $�9�������
����  ������6$����9�9�������+�
�������

�	�����%��&'�
��W��
�����
����  �W��
�����
����������,���  �����$�
	��/
����$  �����$�/

�	�����%��&'����
�������������0
�������  ��
2�����	�����%��&'�
��W��
�����
����������,���

,����
��W��0$"��0���0
�������  O�������������1���,�
�����������������W��	
�������
��

����+�
����� �����-�%/	
� ��������
������
�.�
%����5,,�������
�
���-�������
	��1���$�W��
����

�
����������6��6�����
�����
��  "��	��
�.�,������	������5,,������!�������������
�2�����/

�
��W��
�����
����������6��6�����
�����
��  #$���-���W
��/��
��9��$���������
�����,��,��

������*�%/	
�  �
��	����$��0
����$�9���
�
���/�����
���1�  O���������� �����)�������
�������


%�����-�,������$�
�
���/��6�
��,�1�"�����6$��	�"��W�
���$�����'����+}  ���W��
�
%�����-�  

�)�
$��	��������<��
����
���/���<6�
�1�"�����6$��	�"��W��//���
���$�����'����+}  

���/��	��
9
���� �
	�$�9�������<
�.������	�����������"���
��	����$��0
���1�  ��$�"��
�<�	
� ���


%��������$����������,�6�
�
�2�����/�
����6$��	�"��W�$�����'����+������"��)�����
�

�	����$��0
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